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(A) BB LB 00N/ niE B X BRI DBEID 5 DEABKN/ni) (E) #HEEAIMEIRZ 2RO HEHED HDBAB®KN/ni) 2 THXERARUZEBNICSHIREEHT S ik MEHE
< \ m BA DX HX =S m =733m 8 A QX & :EE_ 18 n‘f ‘tl:tl 3 3 - L NE m7s —
(B) (WA LHREMI- BT HHADT REDESm) (F) O LR ED- AT D BED T EEDBSm) %fwwiﬁ’;féz?ﬁg;&?%%%J_“ﬁ@f‘*_ﬁ& FTTE BE™ 77 AT
(C) BE =k 571 54100kN/ M LU T DK DTS T D 1D B A KN/ ) (Q) HHEE HS3mBL T DR B DHEHED A DB ABRN/m) EMBEEHEEHZRLEFEBHEHICHRRMT
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HETFTRLYFHOLEZEDADKES SIESHA DL EZEDHDAEE
RHBES % =
(A) (B) () (D) (E) (F) (@) (H) (A) (B) (©) (D) (E) (F) (@) (H)
(1) - - 93.2 10 - - 10.1 20 - - 93.2 10 - - 10.1 20
( 2) - - 90.8 10 - - 10.0 20 - - 908 10 - - 10.0 20
( 3) 103.7 1.0 99.3 1.0 - - 11.9 2.3 103.7 1.0 94.2 1.0 - - 119 2.3
( 4) 1345 1.0 99.3 1.0 - - 13.4 2.7 1345 1.0 994 1.0 - - 134 2.7
(5) 1345 1.0 98.9 1.0 - - 14.3 2.8 1345 1.0 99.3 1.0 - - 14.3 2.8
(6) 122.4 1.0 99.9 1.0 - - 13.2 2.6 122.4 1.0 98.7 1.0 - - 13.2 2.6
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